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No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE
Bqg. kg Bqg. kg Ba kg
1 AL R6.10.8 EARLL =T (5EER) BmRHEHE9(<3.3) 6.27 6.3
2 Bt R6.10.4 [BEARLL=I1T (5EER) BmREHE9(<4.9) 19.7 20
3 A R6.10.8 ERLWL=1T (FEE% BmRHEHE9(<45) 5.02 5.0
4 LWhETh R6.10.9 BEERLULM=IT (FeE% BRHEE9(<35) BRHET(<L3.1) BmEEd
5 . /N ] R6.10.8 BERLWL=1T (FEE% BRHE9(<3.9) BRHE9(<3.2) ;- darkcac
6 SEE BT R6.10.7 BRLULM=1F (FEE% BRHE9(<5.3) BRHE9(<4.3) BmHET
7 RIEGH R6.10.8 BERLULM =T (H8E%) BRHET(<4.5) BRHET(<4.4) BRHEET
8 WhEth R6.10.9 T X (FEER) BRHET(<3.6) mEE9(<47) - Janpcac
9 U R6.10.8 [RARFEL =T (FEh) BmHEHE9(<3.6) BmRHEHE9(<4.0) - Janpcac
10 HES R6.10.8 [RARZEL=1F (EEiHh) BmRHEHE9(<35) 15.3 15
11 HET R6.10.8 [RARFEL =T (FEih) BREHE9(<3.2) 420 42
12 [EE3= 300 R6.10.8 FEARZEL=1F(Fh) BRHE9(<25) BRHE9(<2.9) ;- darkcac
13 SEHT R6.10.8 BEARZEUL=F(EHh) BRHE9(<5.2) BRHE9(<4.2) BmHEd
14 15 HT R6.10.9 [RARFEL=1F (EEih) BRHET(<3.6) 215 22
15 =R R6.10.9 FEARZEWN=F (% BRHET(<L5.1) BRHET(<4.1) BRHEET
16 L& R+ R6.10.8 BERRELV=1F (BRiHh) BmHEHE9(<5.3) 31.7 32




BREMHR

No SRR RERE AHDiESE v L-134 2 L-137 ARE
Ba/ ke Ba/ ke Ba kg

17 R IRHET R6.10.7 HIRZIT A YA (EARE) B E9(<29) 10.0 10

18 IR IRHET R6.10.7 a7 (BRE) BRHEET(<41) 473 47

19 R EHET R6.10.8 a2 (BIRE) BRHE9(<3.3) 35.6 36

20 F=EHT R6.10.8 %7 (BRE) BRHEET(<41) 22.8 23

21 RS EHET R6.10.8 a5 (ER&E) BRHEET(<3.9) 24.4 24

22 = RHET R6.10.7 A5 (ERE) BRHEET(<31) 10.2 10

23 = EHT R6.10.8 T35 (BER) BRHEEY(<41) B E9(<2.6) BRHEY

24 RIS IRHET R6.10.8 THN\)Er (BEH) B E9(<5.2) B E9(<3.3) BREEY

BRBEEERICETA—HBESOEEE 2L :100Ba/kg(LHL-134, 29 L-13TDEEE)
HEEME: D L1384 I L-13TDEEMEIZONTIX., B F22H (LN LI EZMEREAL-E®) TREHEL TLVET,




